

(ပြန်လှမ်းသော ပြေ.)

အဖြေပုံစံ: ပထမပုံစံ 3.3

$$4.) \int \frac{2}{\sqrt{2y^2+1}} dy$$

$$11.) \int \frac{1}{\sqrt{3+4x-4x^2}} dx$$

$$14.) \int \frac{\ln^2 x}{x} dx$$

(ဝဲပုဂံကိန်းစီကိန်း (၇၇၇.)

ပထမပုံစံ 3.2

$$1.) \int_1^4 \frac{1}{t\sqrt{t}} dt$$

$$5.) \int_{-1}^1 (1-|x|) dx$$

အဖြေပုံစံ:

$$1.) \int_1^4 \frac{1}{t\sqrt{t}} dt = \int_1^4 t^{-\frac{3}{2}} dt$$

$$= \left(\frac{t^{-\frac{3}{2}+1}}{-\frac{3}{2}+1} \right) \Big|_{t=1}^{t=4} = -2 \frac{t^{-\frac{1}{2}}}{t=1} \Big|_{t=1}^{t=4}$$

$$= \left[-2 \cdot 4^{-\frac{1}{2}} - (-2 \cdot 1^{-\frac{1}{2}}) \right] = -\frac{2}{2} + 2 = 1 \quad \square$$

$$5.) \int_{-1}^1 (1-|x|) dx \Rightarrow 1-|x| = \begin{cases} \overbrace{1-(-x)}^{1+x}, & x < 0 \\ 1-x, & x \geq 0 \end{cases}$$

$$\Rightarrow \int_{-1}^1 (1-|x|) dx = \int_{-1}^0 (1+x) dx + \int_0^1 (1-x) dx$$

$$= \left(x + \frac{x^2}{2}\right) \Big|_{x=-1}^{x=0} + \left(x - \frac{x^2}{2}\right) \Big|_{x=0}^{x=1}$$

$$= \left[0 - \left(-1 + \frac{1}{2}\right)\right] + \left[\left(1 - \frac{1}{2}\right) - 0\right]$$

$$= \frac{1}{2} + \frac{1}{2} = 1$$

$$4.) \int \frac{y}{\sqrt{2y^2+1}} dy$$

$$11.) \int \frac{1}{\sqrt{3+4x-4x^2}} dx$$

$$14.) \int \frac{\ln^2 x}{x} dx$$

Wasser und KVS -

$$4.) \int \frac{y}{\sqrt{2y^2+1}} dy \quad \left| \begin{array}{l} u = 2y^2+1 \\ \frac{du}{dy} = 4y \Rightarrow dy = \frac{du}{4y} \end{array} \right.$$

$$\frac{1}{4} \int \frac{1}{\sqrt{u}} \frac{du}{4y} = \frac{1}{4} \int \frac{1}{\sqrt{u}} du = \frac{1}{2} \frac{u^{-\frac{1}{2}+1}}{(-\frac{1}{2}+1)} + C$$

$$\frac{1}{2} (2y^2+1)^{-\frac{1}{2}} + C$$

$$11.) \int \frac{1}{\sqrt{3+4x-4x^2}} dx = \int \frac{1}{\sqrt{4 - (2x-1)^2}} dx$$

$$= \frac{1}{2} \int \frac{1}{\sqrt{1 - \left(\frac{2x-1}{2}\right)^2}} dx$$

$$\left| \begin{array}{l} u = \frac{2x-1}{2} \\ \frac{du}{dx} = 1 \Rightarrow dx = du \end{array} \right.$$

$$= \frac{1}{2} \int \frac{1}{\sqrt{1-u^2}} du = \frac{1}{2} \arcsin(u) + C = \frac{1}{2} \arcsin\left(\frac{2x-1}{2}\right) + C$$

11.4.4

$$= \frac{1}{2} \int \frac{1}{\sqrt{1-u^2}} du$$

$$= \frac{1}{2} \arcsin(u) + C = \frac{1}{2} \arcsin\left(\frac{2x-1}{2}\right) + C$$

$$(14.) \int \frac{\ln^2 x}{x} dx \quad \left| \begin{array}{l} u = \ln x \\ \frac{du}{dx} = \frac{1}{x} \rightarrow dx = x du \end{array} \right.$$

$$\stackrel{\text{subst.}}{=} \int \frac{u^2}{\cancel{x}} \cdot x du = \frac{u^3}{3} + C = \frac{(\ln x)^3}{3} + C \quad \square$$

\Rightarrow Integration by parts.

$$\Rightarrow \text{Satz 1.} \quad \int d(u \cdot v) = \int u dv + \int v du$$

$$\Rightarrow uv = \int u dv + \int v du$$

Satz 2.

$$\Rightarrow \boxed{\int \underbrace{u}_{(1)} \underbrace{dv}_{(2)} = uv - \int v du}$$

$$\text{Ex:} \quad \int \underbrace{\ln x}_{=u} \underbrace{dx}_{=dv} \quad \left| \begin{array}{l} u = \ln x \quad dv = dx \\ v = x \quad \Rightarrow v = \int dv = \int dx = x \end{array} \right.$$

by parts:

$$\left[\int u dv = uv - \int v du \right]$$

$$\int \frac{\ln x}{u} \frac{dx}{v} = \ln x \cdot x - \int x \underbrace{d(\ln x)}_{= \frac{1}{x} dx}$$

$$= x \ln x - \int x \cdot \frac{1}{x} dx = x \ln x - x + C$$

$$\left[\text{check: } \frac{d}{dx}(x \ln x - x + C) = \cancel{x} \cdot \frac{1}{x} + \ln x \cdot 1 - 1 + 0 = \ln x \right]$$

$$\underline{\text{Ex:}} \int \underbrace{x}_u \underbrace{e^{-x}}_{dv} dx$$

$$u = x$$

$$v = -e^{-x}$$

$$\int dv = \int e^{-x} dx$$

$$v = -e^{-x}$$

$$[\text{by parts: } \int u dv = uv - \int v du]$$

$$= x(-e^{-x}) + \int +e^{-x} dx = -xe^{-x} - e^{-x} + C$$

$$\left(\text{check: } \frac{d}{dx}[-xe^{-x} - e^{-x} + C] = (-x)e^{-x}(-1) + \cancel{e^{-x}}(-1) - \cancel{(-1)e^{-x}} \right)$$

$$= xe^{-x}$$

$$\underline{\text{Ex:}} \int \underbrace{x^2}_u \underbrace{e^x}_{dv} dx$$

$$u = x^2$$

$$v = e^x$$

$$\int dv = \int e^x dx$$

$$v = e^x$$

$$[\text{by parts: } \int u dv = uv - \int v du]$$

$$= x^2 \cdot e^x - \int \underbrace{e^x}_{2x dx} dx^2 = x^2 \cdot e^x - 2 \int \underbrace{x e^x}_{dv} dx$$

$$\text{by parts: } = x^2 \cdot e^x - 2 \left[x \cdot e^x - \int e^x dx \right]$$

$$u = x$$

$$\int dv = \int e^x dx$$

$$v = e^x$$

$$= x^2 e^x - 2[xe^x - e^x] + \underline{\underline{C}}$$

Ex: $\int e^x \sin 2x \, dx = \int \underbrace{\sin(2x)}_u \cdot \underbrace{e^x}_{dv} dx$

by parts: $\int u dv = uv - \int v du$

$$= \sin(2x) \cdot e^x - \int e^x d \sin(2x)$$

$$= \sin(2x) \cdot e^x - 2 \int \underbrace{e^x}_{=u} \underbrace{(\cos(2x) dx)}_{dv}$$

$$\left| \begin{array}{l} u = \sin 2x \\ \int dv = \int e^x dx \\ v = e^x \end{array} \right.$$

$$\left| \begin{array}{l} u = \cos(2x) \\ \int dv = \int e^x dx \\ v = e^x \end{array} \right.$$

$$= \sin(2x) \cdot e^x - 2 \left[\cos(2x) \cdot e^x - \int e^x d \cos(2x) \right]$$

$\int e^x \sin 2x \, dx$

$$= \sin(2x) \cdot e^x - 2 \cos(2x) \cdot e^x + 2(-2) \int e^x \sin(2x) \, dx$$

070707

020707

$$5 \int e^x \sin(2x) \, dx = (\sin 2x) e^x - 2 \cos(2x) e^x$$

$$\text{2.9.07: } \int e^x \sin(2x) \, dx = \frac{1}{5} \left[(\sin(2x) \cdot e^x - 2 \cos(2x) e^x) \right] + \underline{\underline{C}}$$

Ex: $\int \underbrace{x}_{=u} \cdot \underbrace{\ln x}_{dv} dx$

$$\left| \begin{array}{l} u = \ln x \\ \int dv = \int x^2 dx \\ v = \frac{x^3}{3} \end{array} \right.$$

by parts: $\int u dv = uv - \int v du$

$$= \ln x \left(\frac{x^3}{3} \right) - \int \frac{x^3}{3} \underbrace{d(\ln x)}_{= \frac{1}{x} dx}$$

$$= (\ln x) \frac{x^3}{3} - \frac{1}{3} \int x^2 dx = (\ln x) \frac{x^3}{3} - \frac{1}{9} x^3 + C$$

Übung 3.4)

$$1.) \int \underbrace{x}_u \underbrace{e^{2x}}_{dv} dx \quad \left| \begin{array}{l} u = x \\ \int dv = \int e^{2x} dx \\ v = \frac{e^{2x}}{2} \end{array} \right.$$

by parts:

$$= x \cdot \left(\frac{e^{2x}}{2} \right) - \int \frac{e^{2x}}{2} dx = x \frac{e^{2x}}{2} - \frac{e^{2x}}{4} + C$$

$$2.) \int \underbrace{t}_{u} \underbrace{\sin t}_{dv} dt \quad \left| \begin{array}{l} u = t \\ \int dv = \int \sin t dt \\ v = -\cos t \end{array} \right.$$

by parts

$$= t(-\cos t) - \int -\cos t dt$$

$$= -t \cos t + \sin t + C$$

$$3.) \int \underbrace{\arctan x}_u \underbrace{dx}_{dv} \quad \left| \begin{array}{l} u = \arctan x \\ dv = dx \Rightarrow v = x \end{array} \right.$$

(by parts)

$$= x \arctan x - \int x \frac{d(\arctan x)}{1+x^2} = \frac{1}{1+x^2} dx$$

$$= x \arctan x - \int \frac{x}{(1+x^2)} dx$$

11.11.11 (1+x^2)

$$= x \arctan x - \int \frac{x}{u} \cdot \frac{du}{2x}$$

$$\begin{aligned} u &= 1+x^2 \\ \frac{du}{dx} &= 2x \Rightarrow dx = \frac{du}{2x} \end{aligned}$$

$$= x \arctan x - \frac{1}{2} \ln|u| + C$$

11.11.11 u=x^2

$$= x \arctan x - \frac{1}{2} \ln|1+x^2| + C$$

11.11.11: 11.11.11.11.11.11.11.11

$$6.) \int \sin x \ln(\cos x) dx$$

$$8.) \int x^3 e^{x^2} dx$$

$$9.) \int (\ln x)^2 dx$$

$$11.) \int \frac{x e^x}{(x+1)^2} dx$$

11.11.11: by parts. $\int d(uv) = \int u dv + \int v du$

$$uv = \int u dv + \int v du$$

$$\Rightarrow \int u dv = uv - \int v du$$

$$\Rightarrow \text{u. } \textcircled{1} \cdot u \textcircled{2} dv \Rightarrow v = \int dv = \dots$$